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Answer any two questions.

What were the basic features of the socioeconomic

condition of pre-revolutionary

France ?

How did the bourgeois democratic revolution

lead to an extension of the idea of liberalism

and democracy in 19th century Europe ?

How did Bismarck unify Germany ?

Do you think that the aggressive foreign

policy of Hitler was solely responsible for the

Second World War ?
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Do you think that the Reign of Terror saved

the Revolution in France ?

‘I am the revolution’ and ‘I destroyed the

revolutin’ ― make an assessment of Napoleon

on the basis of these two statements.
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Answer any tiwo questions.
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What were the basic features of the socio-
economic condition of pre-revolutionary
France 7
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How did the bourgeois democratic revolution
lead to an extension of the idea of liberalism
and democracy in 19 century Europe ?
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How did Bismarck unify Germany ?
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Do you think that the aggressive foreign
policy of Hitler was solely responsible for the
Second World War ?
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Answer any three questions,
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Do you think that the Reign of Terror saved
the Revolution in France ?

vl e g W@ e @ e — 6t
S T T G S
4 am the revolution’ and 4 destroyed the
revolutin’ — make an assessment of Napoleon
on the basis of these two statements.
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Discuss the background of the February
Revolution of 1848 in France. How woull
vou explain the failure of this revolution ?
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Write an cssay on the historiography of the
Industrial Revolution.
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Was the First World War inevitable »
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How did France try to ensure her sceurity in
the post-World War 1 period ?
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Answer any four questions.
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What was the impact of the French
Revolution on Germany and Italy 7
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Write a short note on the Napoleon's
invasion of Russi.
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What was the relation between Bismarck
and the socialists ?
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Do you think that the agricultural revolution
was the pre-condition of the Industrial
Revolution in England ?
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What was the importance of the Frankfurt
parliament in the movement for the
unification of Germany ?
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What is ‘New Imperialism’ >
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How did A.L. Fisher interpret the war policy
of Germany ?
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Write a short note on the importance of the
Locaro Pact,
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